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1. Write A=[2,4,8,16] in set builder form.

° Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_rWJcJeGrbc7k

2. Find the value of log; +/625.

o Watch Video Solution

3. The larger of two supplementary angles exceeds the

smaller by 58°, then find the angles.

° Watch Video Solution

4. Find the curved surface area of cylinder, whose radius is

7cm. And height is 10 cm.

° Watch Video Solution



https://dl.doubtnut.com/l/_5NB6WMMaO8Hg
https://dl.doubtnut.com/l/_QJJQANSeEo5K
https://dl.doubtnut.com/l/_05gRtunOP1N0

5. Rohan's mother is 26 years older than him. The product of
their ages after 3 years will be 360. Then write the required

quadratic equation to find Rohan's present age.

° Watch Video Solution

6. Find the zeroes of the quadratic polynomial z* — z — 30
and verify the relation between the zeroes and its co-

efficients.

o Watch Video Solution

7. A Joker's cap is in the form of right circular cone, which

base radius is 7 cm and height is 24 cm. Find the area of


https://dl.doubtnut.com/l/_r7SoxMV8upT7
https://dl.doubtnut.com/l/_QgSuJb2MKj5C
https://dl.doubtnut.com/l/_rkuOqP58ra5t

sheet required to make 10 such caps.

o Watch Video Solution

8. Find the HCF of 1260 and 1440 by using Euclid's division

lemma.

o Watch Video Solution

9. If the sum of first 15 terms of an A.P is 675 and its first

term is 10, then find 25° term.

o Watch Video Solution



https://dl.doubtnut.com/l/_rkuOqP58ra5t
https://dl.doubtnut.com/l/_WyNtNBLbrgeJ
https://dl.doubtnut.com/l/_XHb5msuii2Tr

10. Show that 2 + 5,/3 is irrational.

OR

° Watch Video Solution

11. Check whether -321 is a term of the AP.: 22, 15, 8, 1,.....

o Watch Video Solution

12. In a class test, the sum of Moulika's marks in
Mathematics and English is 30. If she got 2 marks more in
Mathematics and 3 marks less in English, the product of her
marks would have been 210. Find her marks in the two

subjects.

[ o |


https://dl.doubtnut.com/l/_3zBdEvScZw07
https://dl.doubtnut.com/l/_n9Z0tRCumSOh
https://dl.doubtnut.com/l/_4WdgVDJi97l5

| & Watch Video Solution

13. An oil drum is in the shape of cylinder , whose diameter
is 2m and height is 7m. The painter charges Rs 5 per m?* to
paint the drum. Find the total charges to be paid to the

painter for 10 drums.

° Watch Video Solution

14. IF A={x:x is a natural number less than is 6}
B={x:x is a prime number which is a divisor by 60}
C={x:x is an odd number less than 10}

D={x:x is an even number which is a divisor by 48}
Then write roster from all above sets and find

(i) A U B (ii) BN C (iii) AD


https://dl.doubtnut.com/l/_4WdgVDJi97l5
https://dl.doubtnut.com/l/_S31GCvrVWY5a
https://dl.doubtnut.com/l/_Ed1Tv4bfbuQ8

(iv) D-B .

(OR)

o Watch Video Solution

15. 6 pencils and 4 notebooks together cost Rs.90/- whereas
8 pencils and 3 notebooks together cost Rs.85/-. Find the

cost of one pencil and that of one notebook.

° Watch Video Solution

16. Find the zeroes of the quadratic polynomial

p(z) =z* 4+ 2 —20

o Watch Video Solution



https://dl.doubtnut.com/l/_Ed1Tv4bfbuQ8
https://dl.doubtnut.com/l/_i1ts9e8bO5XQ
https://dl.doubtnut.com/l/_5DT5hOKgEwdT
https://dl.doubtnut.com/l/_bt2KgvBYH6rJ

17. Solve the following pair of linear equations graphically.

2x+y=4 and 2x-3y=12.

° Watch Video Solution

18. IF n(A)=8,n(B)=6, n(A N B)=3, then n(A U B)=.........

A5

B.7

C.9

D.13

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_bt2KgvBYH6rJ
https://dl.doubtnut.com/l/_BH8sFk6ypSYN

19. The discriminant of 622 — 52 -1 = Q'is .......

Al

B.2

C.6

Answer: A

o Watch Video Solution

20. Sum of the zeroes of the polynomial 2 + 5z + 6 is.....

A5


https://dl.doubtnut.com/l/_H7P8MKHNA0gK
https://dl.doubtnut.com/l/_8R2CHgpxOUQA

Answer: B

° Watch Video Solution

21. Which of the following is not irrational?

A /2
B./3
C.v/4

D.+/5

Answer: C



https://dl.doubtnut.com/l/_8R2CHgpxOUQA
https://dl.doubtnut.com/l/_YSPBiCR2d03c

| o Watch Video Solution

22.0ne root of the equation z — — = 2s.........
x

A1l

B.2

C.3

D.4

Answer: C

o Watch Video Solution

23.IF 4,29 are in G.P, then a=........


https://dl.doubtnut.com/l/_YSPBiCR2d03c
https://dl.doubtnut.com/l/_MW7NpGOGWG2h
https://dl.doubtnut.com/l/_ZqqVyc83n5cn

A.6

B.£6

C.7

D.+7

Answer: B

° Watch Video Solution

24. IF total surface area of a cube is 960m2, then its volume

A. 32cm?
B. 64cm®

C.128¢cm?


https://dl.doubtnut.com/l/_ZqqVyc83n5cn
https://dl.doubtnut.com/l/_Z4Dq6Kv4gNd1

D. 256¢cm?®

Answer: B

° Watch Video Solution

25.10g,,0.001 = ...........

A2

B.3

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_Z4Dq6Kv4gNd1
https://dl.doubtnut.com/l/_gdLPJIHVQHfO

26. Match the following :

If a, B, ~y are zeroes of a cubic polynomial

az® 4 bz® + cx + d(a # 0), then.......
d
) a+p+y (@ -
| ¢
il) apf + Py + yu (D) A
b
M) opy © -,

A. (i)-c(ii)-by(iii)-a

B. (i)-a,(ii)-b,(iii)-c

C. (i)-b,(ii)-a,(iii)-c

D. (i)-c,(ii)-a,(iii)-b

Answer: A

| ° WAL _L vl e~ ..


https://dl.doubtnut.com/l/_gdLPJIHVQHfO
https://dl.doubtnut.com/l/_RtUTWv2TJjOz

L vvdallll vIUCO o0IULiVIl

27.The next term is AP. /3, /12, V27 iSu

A /32
B. /36
C. V42
D. /48

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_RtUTWv2TJjOz
https://dl.doubtnut.com/l/_WhWbv3yQaYqC

28. The shaded region in the given figure below:



https://dl.doubtnut.com/l/_XfXxCsuWGGTy

[ W Watch Video Solution

29. 5x-3 represents ............ polynomial.

A. Linear

B. Quadratic

C. Cubic

D.Aand B

Answer: A

o Watch Video Solution

30. The common difference of AP.log, 2, log, 4, log, 8 is.....


https://dl.doubtnut.com/l/_XfXxCsuWGGTy
https://dl.doubtnut.com/l/_MfFCbVPgUe79
https://dl.doubtnut.com/l/_VP9MYFBZZ6ep

A1l

B. 2

C.3

D.4

Answer: A

° Watch Video Solution

31. The sum of first 'n' odd natural number is


https://dl.doubtnut.com/l/_VP9MYFBZZ6ep
https://dl.doubtnut.com/l/_kbZwxDzwNFXb

. n(n + 1)

Answer: B

o Watch Video Solution

32. The quadratic polynomial, whose zeroes are /2 and

A z?—2
B.a:2+2
C.a:2+\/§

D. x-2

Answer: A



https://dl.doubtnut.com/l/_kbZwxDzwNFXb
https://dl.doubtnut.com/l/_YsmOeF6JZDDO

[ W Watch Video Solution ]

33. The number of zeroes of the polynomial in the graph

Y

N

0

A.O

B.1


https://dl.doubtnut.com/l/_YsmOeF6JZDDO
https://dl.doubtnut.com/l/_hcW7yMlr8DOi

C.2

D.3

Answer: D

° Watch Video Solution

34.The line 2z — 3y = 8 intersects X-axis at........

A (2,3)

B. (0,-3)

C.(2,0)

D. (4,0)

Answer: D



https://dl.doubtnut.com/l/_hcW7yMlr8DOi
https://dl.doubtnut.com/l/_1D0PMwECUjYA

| o Watch Video Solution

35. The volume of cone , whose radius is 3 cm and height is

B. 127w

C. 18«

D. 24w

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_1D0PMwECUjYA
https://dl.doubtnut.com/l/_RsJHl4Besgar

36. IF 62 +2y—9=0 and kx+y—7=0 has no

solution, then k=........

A3

B.2

Answer: A

° Watch Video Solution

37. IF the equation z? + 5z + K = 0 has no real and

distinct roots, then.........


https://dl.doubtnut.com/l/_OpDqh7Oaepa0
https://dl.doubtnut.com/l/_x5LWccDIJUIS

AK=6

B. K < 6.25

CK>6

D. K > 25

Answer: B

o Watch Video Solution

AL 2
38. In AABC,LM | | BC and 75 = g,AM = Bem.

Find AC

o Watch Video Solution



https://dl.doubtnut.com/l/_x5LWccDIJUIS
https://dl.doubtnut.com/l/_5xZBpj7htFk7

39. Evaluate sin15°. sec75°.

o Watch Video Solution

40. A box contains 3 blue and 4 red balls . What is the

probability that the ball taken out randomly will be red?

° Watch Video Solution

41. The mean for a grouped data is calculated by

> fids
> fi

What do the terms 'f;’ and 'd;’ represent in the above

T =a-+

formula?

o Watch Video Solution



https://dl.doubtnut.com/l/_f5r36CPVRG2E
https://dl.doubtnut.com/l/_EtwL1Tgt0tQq
https://dl.doubtnut.com/l/_ZU7xEFXEpoAK

42. IF the distance between two points (x,1) and (-1,5) is '5".

Find the value of 'x'.

o Watch Video Solution

43.Find the length of the tangent from a point 13 cm away

from the centre of the circle of radius 5 cm.

° Watch Video Solution

44.|F cos A = 2—75, then find sin A and cosec A. What do you

observe?

° Watch Video Solution



https://dl.doubtnut.com/l/_ZU7xEFXEpoAK
https://dl.doubtnut.com/l/_qpGmRnRcTN1q
https://dl.doubtnut.com/l/_V6Bbat69v5jY
https://dl.doubtnut.com/l/_VrD6GtsqHsNT

45. Rehman observed the top of the temple at an angle of
elevation of 30°, when the observation point is 24 m. away

from the foot of the temple. Find the height of the temple.

° Watch Video Solution

46. Write mid-values of the following frequency distribution.

Class Interval 8-11 12-15 16-19 20-23 24-27 28-31 3233

Frequency 4 4 5 13 20 14 S

° Watch Video Solution

47. Prove that

(sin A 4 cosecA)® 4 (cos A + sec A)® = 7+ tan? A + cot> A


https://dl.doubtnut.com/l/_VrD6GtsqHsNT
https://dl.doubtnut.com/l/_x3sC1nOcIEgG
https://dl.doubtnut.com/l/_FxI2hBBXvvjf
https://dl.doubtnut.com/l/_nmrUYWyia9D5

o Watch Video Solution

48. ABC is a right angled triangle, right angled at C. Let
BC=a, CA=b,AB=c and let p be the length of perpendicular

from C on AB.

1 1
Prove that (i) pc=ab and (ii) -~ = + —.
p

° Watch Video Solution

49. Find the median of the following data.

[Class Interval | 11-15 [ 1620 [ 2125 [ 2630 | 31-35 | 36-40 |
lFrequency I 3 I 5 J 9 12 7 4 |

° Watch Video Solution



https://dl.doubtnut.com/l/_nmrUYWyia9D5
https://dl.doubtnut.com/l/_OAutvFtVHaHv
https://dl.doubtnut.com/l/_cBjTVRJ0rDYK

50. In what ratio does the point ( - 4 , 6) divide the line
segment joining the points A(-6,10) and B (3,-38) ?

(AS1)

° Watch Video Solution

51. Two dice is thrown at the same time. What is the
probability that the sum of two numbers appearing on the
top of the dice is (a) 10,(b) less than or equal to 12, ( ¢) a

prime number , (d) multiple of '3'?

° Watch Video Solution



https://dl.doubtnut.com/l/_cBjTVRJ0rDYK
https://dl.doubtnut.com/l/_5r8U5eM9wMTm
https://dl.doubtnut.com/l/_hHBwmZk6A6uA

52. A tree breaks due to storm and the broken part bends
so that the top of the tree touches the ground by making
30° angle with the ground. The distance between the foot
of the tree and the top of the tree on the ground is 6 m.

Find the height of the tree before falling down.

° Watch Video Solution

53. Construct a triangle PQR, where QR=5.5 cm , /@) = 65°
and PQ=6 cm. Then draw another triangle, whose sides are

2
3 times of the corresponding sides of APQR.

° Watch Video Solution



https://dl.doubtnut.com/l/_Zlcz0G5prN9g
https://dl.doubtnut.com/l/_pMG8mDz1kDjz

54. Draw a circle of radius 4 cm and draw a pair of tangent
to the circle, which are intersecting each other 6 cm away

from the centre.

° Watch Video Solution

55.In the figure, /BDF-.......

A


https://dl.doubtnut.com/l/_pjnPGLsLGL5e
https://dl.doubtnut.com/l/_CBppTgboB9Rj

A.45°

B.65°

C.75°

D.60°

Answer: A

° Watch Video Solution

56.cos 60° + sin 30° value is........

A \/3/2
B.1

C.cos 90°


https://dl.doubtnut.com/l/_CBppTgboB9Rj
https://dl.doubtnut.com/l/_sd25EtklMU1Z

D.Band C

Answer: B

o Watch Video Solution

57.A=(2,3,5,6,8},B={2,5,7} then AU B

A.{2,5}

B. {2,3,5,6,8}

C.{2,3,5,6,7,8}

D. none

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_sd25EtklMU1Z
https://dl.doubtnut.com/l/_5SsGuobfhZKl

58. Centroid of triangle , whose vertices are (-a, 0),(0,b)

and (a, 0) is ...

A. (a,b)

Answer: C

° Watch Video Solution

59. The formula to find the area of a tri-angle is ....


https://dl.doubtnut.com/l/_5SsGuobfhZKl
https://dl.doubtnut.com/l/_9bcVthUMxbSA
https://dl.doubtnut.com/l/_owmIYyEg8wHT

1
AA= Ebh

B.A = \/(s —a)(s — b)(s — )

CA= \/s(s —a)(s—b)(s—¢)

D.Aand C

Answer: D

° Watch Video Solution

60. The theorem applied to divide the line segment in the

given ratio iS.........

A. Pythagoras theorem

B. Thales theorem

C. Euclid theorem's


https://dl.doubtnut.com/l/_owmIYyEg8wHT
https://dl.doubtnut.com/l/_kRHJ6pAp25Qa

D. Brahmagupta theorem

Answer: B

o Watch Video Solution

61. The number of tangents drawn at the end points of the

diameter is......

A1l

B.2

C.3

D. Infinite

Answer: B



https://dl.doubtnut.com/l/_kRHJ6pAp25Qa
https://dl.doubtnut.com/l/_0gAW4fSo9JMV

[ W Watch Video Solution ]

1
62.IFsecA +tan A = 5 then sec A- tan A=.........

w >
un

N
gl ol o=

Answer: A

° Watch Video Solution

63. The length of shadow of a pole is equal to the length of

the pole, then the angle of the elevation of the Sun is ...


https://dl.doubtnut.com/l/_0gAW4fSo9JMV
https://dl.doubtnut.com/l/_msbJLjEu4L8g
https://dl.doubtnut.com/l/_s5S4MPwf2JdY

A.15°

B.30°

C.45°

D.60°

Answer: C

° Watch Video Solution

64. Angle is a semi-circle is.........

A.60°

B.90°

C.180°


https://dl.doubtnut.com/l/_s5S4MPwf2JdY
https://dl.doubtnut.com/l/_U7Zs9hvKcXxb

D. 270°

Answer: B

° Watch Video Solution

65. The probability that the sum of two numbers appearing
on the top of the dice is 13,when two dice are rolled at the

same time is............

B.1

C.O

D.2


https://dl.doubtnut.com/l/_U7Zs9hvKcXxb
https://dl.doubtnut.com/l/_LjMd96enP9YL

Answer: C

o Watch Video Solution

66. IF P ( E) =0.05, then P (E)=......

A.05
B.0.95
C.95

D. 0.095

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_LjMd96enP9YL
https://dl.doubtnut.com/l/_5j9AKNsnkoNN

67. The mode of the data 5,6,9,10,6,11,4,6,10,4 is.........

A4

B.5

C.6

D.10

Answer: C

o Watch Video Solution

68. Reciprocal of tanf is..........

A.sec@

B. cot @


https://dl.doubtnut.com/l/_mrXmUKtZkg9P
https://dl.doubtnut.com/l/_pKAZnK0jVbmY

C. cos ech

D. —tan#6

Answer: B

° Watch Video Solution

69. (sec2 0 — 1) (cos ec’d — 1)= ..............

A.O
B.1
C.tan? 6

D. cot? 6

Answer: B



https://dl.doubtnut.com/l/_pKAZnK0jVbmY
https://dl.doubtnut.com/l/_FyTX8LZj8bGI

| o Watch Video Solution

70. The centre of the circle is (2,1) and one end of the

diameter is (3,-4). Another end of the diameter is..........

A.(1,6)

B. (-1,-6)

C.(1,6)

D. (-1,6)

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_FyTX8LZj8bGI
https://dl.doubtnut.com/l/_uzbBOLgJkS0t

1 —a

71. The letter that represents , which is used in

measuring mean is........

A d,

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_buibxCgy9J4n

A.12 sq.u.

B. 6 sq.u.

C. 24 sq.u


https://dl.doubtnut.com/l/_HCyKgtbuAYgs

D.18 sq.u

Answer: B

o Watch Video Solution

73. Which of the following be the probability of an event?

A.-15

B.24

C.0.7

D. 115

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_HCyKgtbuAYgs
https://dl.doubtnut.com/l/_8aMVCl2iFBcZ

1
74.5in(90 — A) = 3 then A=........

A.30°
B.45°
C.60°

D.90°

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_8aMVCl2iFBcZ
https://dl.doubtnut.com/l/_gv3nucRsKMDQ

